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val(i, t) = vol(i, t)  × prix(i, t)

 

Ival(i, t) =  Ivol(i, t)  × Ip(i, t)

Ival(i, t) =
val(i,t)

val(i,t−1)
, Ivol(i, t) =

vol(i,t)

vol(i,t−1)
Ip(i, t) =

prix(i,t)

prix(i,t−1)
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Val(t) = ∑ val(i, t)

i

= ∑ q(i, t) × p(i, t)

i

 

Val(t)

Val(t − 1)
=

∑ val(i, t)i

∑ val(i, t − 1)i

=
∑ q(i, t) × p(i, t)i

∑ q(i, t − 1) × p(i, t − 1)i

 

« 

 »  

Vol(t) = ∑ q(i, t) × p(i, t − 1)

i

«  »

 

Vol(t)

Vol(t − 1)
=  

∑ q(i, t) × p(i, t − 1)i

∑ q(i, t − 1) × p(i, t − 1)i

=  ∑ [(
val(i, t − 1)

Val(t − 1)
) ×

q(i, t)

q(i, t − 1)
]

i

 

 

 

P(t)

P(t − 1)
=  

Val(t)
Val(t − 1)⁄

Vol(t)
Vol(t − 1)⁄

=
∑ q(i, t) × p(i, t)i

∑ q(i, t − 1) × p(i, t − 1)i

×
∑ q(i, t − 1) × p(i, t − 1)i

∑ q(i, t) × p(i, t − 1)i

=  
∑ q(i, t) × p(i, t)i

∑ q(i, t) × p(i, t − 1)i
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